Double T-nuts

A\

Please observe!
m Quenched and ground Always tighten T-nuts
m Incl. screw ISO 4762 - 12.9 Version 2 with a torque wrench.

e R e T R
26 2 8

Version 1

=

Screw ue SMW-AUTOBLOK
1SO 4762 Md max. (Nm)
12 M6 16
15 6.5 16 M8 30

NSTE 08 038265 135 5 M6 x 20 HFKN-D 110
NSTE 12 12061300 2 12 M8 x 20 BH-D 130
PB-D 130
HB-D 130
BB-D 140
NSTE 12-1 12061200 1 12 15 55 16 M8 M8 x 20 30 AN-D 125
AL-D 125
NSTE 14 73061650 1 14 185 6.5 164 M10 M10x20 50 HFKN-D 165
AN/AL/BH/BH-D 165
BHD-FC 165
PB/PBI/RC-D 165
AP/NT-D 170
BB-D 175
HYND-S 180
NSTE 17 081813 2 17 23 9 22 M12 M12 x 30 70 2 BLE-PS 160/200 = 2 BLEF 200 HSL 165/210
KL/KT/KTG/KTN/KS-PS 160/200 TH 165/210
NSTE 17-1 081814 2 17 23 9 19 M12 M12 x 30 KSF 175/200 = KSKL 250 Mo THF 165/210
KGH/KGHF/KTH 160/175/200 ROTA NC-D 200
KS 160/200/250 = KG/KP 200 HSG 200
NH/NHF 160/175/200 HSG 250
QLK/QLC 160/175/200 ROTA NC/NCF Plus 165
QLK/QLC-KS 200/250
QLK/QLC-LS 160/200
QLC-AG 200 = UVE 160/200/250
NSTE 17-2 73062150 1 17 205 75 23 M12 M12 x 25 70 HFKN-D 210 = AN-D 210 ROTA NC/NCF Plus 215
AL-D 210 = BH-D 210 ROTA NCO 210
BHD-FC 210 = RC-D 210 ROTA NCD 185
BB-D 210 = PB-D 210 ROTA NCK Plus 210/250
PBI-D 210 = HB-D 210 ROTA NCF 165/210
HYDN-S 210/226 ROTA NC 165/210
AP-D 215 = NT-D 215 ROTA 2B 160
NSTE 17-3 18062632 1 17 205 7 30 M12 M12 x 25 70 AP-D 260
NT-D 260
NSTE 21 081815 2 21 27 11 28 M16 M16 x 35 150 3 NH 250-315 = 3 NHF 250-315 HSL 250/315
KT 250-315 = KSH 250-315 ROTA NC-D 250
KSHF 250-315 = 3 KTGF 250-315 ROTA NC-O 250
KG 250-315 = KP 250-315 TH 250/315
KLNC 250-315 = KL 250 = KSPS 250-300 THF 250/315
3 NHF 290 = KS 315-400 = KSH 400 HSG 315
KSHF 400 = UVE 315 = 3 NHD 400 (Index) ROTA NC-D 315
2 BLE 200 = 2 BLE 250 Mo ROTA NC-O 315
QLK/QLC 250/315 = QLK/QLC-KS 315/400 ROTA NCF 315
QLK/QLC-LS 250/315 = QLC-AG 250/315 ROTANC 315
NSTE 21-2 73063050 1 21 265 10 30 M16 M16 x 30 150 HFKN-D 260/315 = HFKN-M 315 ROTA NCO 260/315
AN/AL/BH/BB/HB/PB/PBI-D 250/315 ROTA 2B 200
NSTE 21-3 034148 1 21 265 10 28 M16 M16 x 30 150 AN/AL/BH/BB/PB/PBI-M 315 ROTA NC 250 = ROTA NCF 250
AP/APLUNT-D 315 ROTA NC Plus 260/315
AP/APLNT-M 315 ROTA NCK Plus 315
HYND-S 250/315 = RC-D 250/305 ROTA NCF Plus 260/315
RC-M 305 = BHD-FC 250/315
BHM-FC 315
NSTE 25.5 081817 2 255 29 1" 35 M20 M20 x 40 300 HFKN-D 400 3 NH 400-500-630 = 3 NHF 400-500-630 HSL 400
HFKN-M 400 3 KTGF 400-500 = UVE 400-500-630-800 ROTA NC-D 400/500
KT 400-500 = KG 400-500 = KL 400-500 ROTA NC-F 400/500
KLNC 400-500 = KP 400 = KS 500-630 TH 400/500
KSH 500 = KSL 630 = KSHF 630 = KL 300 THF 400/500
KSHF 560 = 2 BLE 250 = 2 BLE 315 ROTA 2B 250/315/400
2 BLE-PS 300 = 2 BLE-PS 315 = 2 BLE 400
2 BLE 500 = 2 BLE-PS 400-500 = QLC 400 = QLK 400
NSTE 25.5-1 73065030 1 255 33 145 38 M20 M20 x 40 300 RC-D 500
AP-D 400 = APL-D 400
NT-D 400

68 SMW-AUTOBLOK

SMW-AUTOBLOK 69






